Lesson B#9
Ramulu Gajavada, Saviskrtam Teacher

FqHUZ: sabdasamgrahah = Vocabulary

HT: mrgah = deer, 9% vrkah = jackal, & raksati = protects, J9: nrpah = king, aih desah =

country, ART=B(A agacchati = = comes, 9*¥: panthah = traveler, 374: anyah = another, BICIk]
dhavati = runs, ga: dvipah = island, 31%: asvah = horse, ¥¥%: samudrah = sea, gd: datah =
messenger, T nayati = takes, 31%H: a§ramah = hermitage, T sevakah, q¥: dasah = servant,
Il uttisthati = gets up, MW[H_asanam = seat, 3A: putrah = son, ®SH phalam = fruit, STSH_
jalam = water, qdd: parvatah = mountain, € vanarah = monkey, wad plavate = leap, jump,
qdrd patati = falls, 311'1\? bhtimi = ground, HﬁT bhiimau = on the ground, 3TRI: akasah = sky, H?:'T

nadi = river, an: tirah = river bank, 3WUY aranyar, 3« vanarh , ®AR kataram = forest, ZIRET

§akha = branch of a tree, IEMT: §dkhayah = from the branch, of the branch,

TegHl FEHl [ RRa:  sabdanarn paficami vibhaktayah

5™ declension of nouns (from, than)

T d e.va 8.9 dvi.va 9.9 bahu.va

(H S-HNd: g) TG AR THA:
(rama a-karantah pu) ramat ramabhyam ramebhyah
(® F-FE ) s HRT, Hen:
(kavi i- karantah pu) kaveh kavibhyam kavibhyah
(& I-FR: ) - o, TeT:
(guru u-karantah pu) guroh gurubhyam gurubhyah
(] - FT: 9) fig: LSS forpa:

pitr r-karantah pu) pituh pitrbhyam pitrbhyah
(ST T-FNwa: &) SAM: SATAR SAN:

(lata a-karantah str1) latayah latabhyam latabhyah
(@ -FRa: &) I AR, e
(nadi 1- karantah stri) nadyah nadibhyam nadibhyah
(A1 Fe-wrea: &) Ag: AT, A
(matr r-karantah stri) matuh matrbhyam matrbhyah



SERWNH udaharanani = Examples

1. g4: budhah 3T _asanat STl uttisthati
The scholar gets-up from the chair.
ﬂ’gﬁ budhau SEARIH asanabhyam Sfagd: uttisthatah
Two scholars get up from two chairs.
gdq1: budhah AR asanebhyah STl uttisthanti
The scholars (pl.) get up from the chairs. (pl.)

2. ¥ phalamh J&Td vrksat qard patati
The fruit falls from the tree.
RS phalani Jead_ vrksat qdfed patanti

Fruits fall from a tree.

TS phale g8l vrksabhyam qdd: patatah
Two fruits fall from two trees.
ST phalani FET: vrksebhyah qefed patanti
Fruits (pl.) fall from trees (pl.).

3. Tg: ST Idd | yoddhah asvat patatil
A warrior falls from the horse.
gl ARl gad: | yoddhau a§vabhyar patatah!|
Two warriors fall from two horses.
AGT: IR Tl | yoddhah asvebhyah patantil

Warriors (pl.) fall from horses (pl.).

4. Tre5h: TG FR JeqhM ARSI |

balakah gramat nagaram pustakaya agacchatil
A boy comes to the city for a book from the village.

a\y . . .
ASH AHERT R Jedhial SFT=ad: |

balakau gramabhyam nagararh pustakabhyam agacchatah!|
Two boys come to the city from two villages for two books.



ATSH: TF: TN Feadaa: STFTeS(ed |
balakah gramebhyah nagarani pustakebhyah agacchantil
The boys (pl.) from villages (pl.) come to cities (pl.) for books (pl.).

5. TEER: T IR IR T IS |
yacakah grame grhat grharmh annaya gacchatil
A beggar goes from house to house in a village for food.

TR T TR I el Tead: |
yacakau gramayoh grhat grharh annaya gacchatah!|
Two beggars go from house to house in two villages for food.

RN T TR IR EE T3 |
yacakah gramesu grhat grharh annaya gacchantil
Beggars (pl.) in villages (pl.) go from house to house for food.

6. ITEATIHI_ B TGLA: AT |
adhyapakat chatrah caturatarah nastil |
A student is not smarter than the teacher.

AT i ST AT |
ramat sita unnata-tara nastil
Sita is not taller than Rama.

TP : qTSHT: I F Gied |

balakebhyah balikah unnatatarah na santil
The girls are not taller than boys.

TH: HEHd- Al SR T: B TgLal: TR |
ramah samskrta-kaksayam anyebhyah chatrebhyah caturatarah astil

Rama is more intelligent than other students in Samskrtam class. (97 va)



TH: HEFHd HE SEE gad: TR |

ramah samskrta kaksayarm chatranarh caturatamah astil
Rama is the most intelligent student in Samskrtam class.

N

HSERTN GEFd-FAE FI0Ehg: Jadall aoH] &:  [heg dAH  TH: SEHUG:

SAAA: AT | (SEHU: = SEAUM)
ramalaksmanau samskrta-kaksayam anyachatrebhyah unnatatarau balakau stah kintu
tayormadhye ramah laksmanatah unnatatarah astil (laksmanatah + laksmanat)

Rama and Laksmana are taller than other boys in Samskrtam class, but Rama
is taller than Laksmana between those two.

9AT: prasnah = Questions

SPEEIERICILCCIC Hepa Eq | adhah vakyanamanuvadari sariskrte likhatu)

Write the translations of the following sentences in Samskrtam.

Krishna protects a deer from a jackal.

The king comes from the country.

A boar runs from a hermitage to a hermitage.

A traveler goes from one country to another country.
A deer runs from an island.

A horse goes from the sea.

A messenger carries away a deer from the hermitage.
A servant gets up from the seat.

A B S o M

The son takes away a fruit from the king.

p—
e

Rama goes from Delhi city to Hyderabad city.

p—
=

Water falls from the sky on the mountains. Water in the rivers falls from
the mountains. Rivers flow from forest to forest. On two sides of the river
there are forests. In the forest monkeys jump from one branch of a tree to
another branch of a tree. One monkey, leaping from one tree to another
tree for a fruit, fell on the ground.



